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0 o™ i) (0 G 973 0w 27 W) 47

(-3)72
(-3)°3

. 2 ... "3 .
(i) (-3)< (ii) -1 (iii) -1 (iv) -4 (v) -5

3 &) (5 (5)

(i) 4 (ii) - (iii) (iv) 2 () ,

( .139 ) (_139 ) (_139 ) | (_351 )

(i) (-5) (i) (-2) (iii) (-8) (iv) (-5)7 (v) (-5)
5. [772]% =
) 578 (i) 978 (i) 778 (v) 779 (v) 777

6. [(-2)°]° =

M 202 () 2028 i) 522 (v) 1 () (2024






13. Simplify the expression 79 X 79

i 77 iy 518 iy 719 (iv) 918 (v) 718

14. Simplify the expression 20 %27 %27

G 1L iy 2714 i) 4715 (iv) 2716 (v) 2715

15. Simplify the expression (-3)8 X (-3)8 X (-3)8

24 24

M) -3)2° () 3)2* (i) 3)23 (iv) (-6)

5

16. Simplify the expression(-5)™> X (-5)°

i) 51 iy 5710 i) -8)10 (iv) (50 (v) (-2)710

(-5)2
17. Simplify
(-5)

(i) 4 (i) 1 (i) 0 (iv) 2 (v) -2

(-2) 2 x22
18. Simplify -
272 % (-4)2

G 2% i) 4% i) 2% Gv) 2° (v) 27

(-2) 2 x(-3)2 x(-3)"2
19. Simplify

3 2 2

) L3 3 , 1 3
(i) 1 (i) < (iii) (5) (iv) (5) (v) (5)

2 2

42 x(-5)2 x42 x(-2)
20. Simplify

22 x(-3)2 x(-3)

43x32
21. S|mp||fy3_2x53
26x33 26x34 26x3° 26x34 2634
(i) -3 (i) - 23 (iii) - -3 (iv) 3 (v) )3



22.

23.

24.

25.

26.

(-4)3x(-4)2 x(-2)"2
Simplify
(-5)'3><43><4'3
54 53 53 53 52
(i) (i) (iii) (iv) (v) -
24 22 5 24 24
32x(-3)2x33
Simplify -
(—5)2><(-4)2><23><(-5)2
37 37 38 36 37
(i) (i) (iii) (iv) (v)
27 x34 27 xg4 27 x54 27 x54 27 x54
272 %(-3)2 x(-3)2 x53
Simplify
4'3><3'3><(-2)'3
1x26 1x28 1x27 1x27 1x27
(i) - (i) - (iii) - (iv) - (v) -
3x53 3x53 5x53 371x53 3x53
Which of the following statements are true?

m m m
a) a. x = a .x
n m
by (x™) = (x7)
0 a’ =1 (a=0)
d) M N = Smn
n
e) (Xm) _ (m+n)
m
X m
f) = xXn
X

(i) {a,c,b} (i) {d,c} (iii) {b,c} (iv) {a,b} (v) {ef,b}

Find the reciprocal of 82

2 3 2 2

W () @ (5) g () o (g)



27.

28.

29.

Find the reciprocal of ( 9 )

(iv)

85><49

7(-34)X 810

7 8 8
. -9 , -11 . , -7
(i) (3) (ii) (-3 ) Giy (<) (v (3) (v) (3)
8
(85x49) =
i) 87%xa% (i) 8%%%4? iy 8%9x 4’2
5 2 4
(77°) " x(87) T x (11%)
2 2 2 -
(75) x(82) x(115)
i 73 x811x11° (i) 7039x810x 117

30. [(83)5x(83)4]+827

1 (i) 3 (iii) 2

3

=

(i)

-5 -5 5
TG =) T-[6) =G

(i)

(-1)

(i) 0 (iii)

(iv) 0 (v)

1 (iv)

8

5

! (v) 3
4 v

) ]

5

(iii)

5

(v) 87 x4

x11

72



Assignment Key

1) (i) 2) (ii) 3) (iii) 4) (i) 5) (iii) 6) (i)
7) (iii) 8) (iv) 9) (iii) 10) (i) 11) (iii) 12) (i)
13) (v) 14) (v) 15) (ii) 16) (ii) 17) (ii) 18) (i)
19) (v) 20) (v) 21) (ii) 22) (iv) 23) (v) 24) (v)
25) (iii) 26) (v) 27) (iii) 28) (iii) 29) (iv) 30) (i)
31) (iii)
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